

№4.

$$p(x|d) = \frac{d}{x^{d+1}}, \quad x \geq 1.$$

$$L(d) = \prod_{i=1}^n d \cdot \frac{1}{x_i^{d+1}} = d^n \cdot \left( \frac{1}{x_1^{d+1}} \cdot \frac{1}{x_2^{d+1}} \cdot \dots \cdot \frac{1}{x_n^{d+1}} \right)$$

$$\ell(d) = \ln L(d) = n \ln d - (d+1) \sum_{i=1}^n \ln x_i$$

$$L(d) = \prod_{i=1}^n d \cdot \frac{1}{x_i^{d+1}} = d^n \prod_{i=1}^n x_i^{-(d+1)}$$

$$\ell(d) = \ln L(d) = n \ln d - (d+1) \sum_{i=1}^n \ln x_i$$

$$\ell(d) = \frac{n}{d} - \sum_{i=1}^n \ln x_i = c \Rightarrow d^* = \frac{n}{\sum_{i=1}^n \ln x_i}$$

$$\ell(d) = -\frac{n}{d^2} < 0 - \text{и макс.} \Rightarrow \text{макс.} \quad \text{Где? } d^* = \frac{n}{\sum_{i=1}^n \ln x_i}$$

№5.

$$\cos \varphi = a, \quad \sin \varphi = b.$$

$$C = \begin{pmatrix} 4 & 1 \\ 1 & 2 \end{pmatrix} = \begin{pmatrix} \text{var}(X) & \text{cov}(X,Y) \\ \text{cov}(X,Y) & \text{var}(Y) \end{pmatrix}$$

$$1) \quad Z = aX + bY, \quad V = -bX + aY$$

$$\text{cov}(Z, V) = 0 = \text{cov}(aX + bY, -bX + aY) = a(-b) \text{var}(X) +$$

$$+ a^2 \text{cov}(X, Y) - b^2 \text{cov}(Y, X) + ab \text{var}(Y)$$

$$\text{var}(X) = 4, \quad \text{var}(Y) = 2, \quad \text{cov}(X, Y) = 1.$$

$$\text{cov}(Z, V) = -ab \cdot 4 + a^2 - b^2 + ab \cdot 2 = (a^2 - b^2) = \cos^2 \varphi - \sin^2 \varphi =$$

$$= \cos 2\varphi.$$

$$\cos 2\varphi - \sin 2\varphi = 0 \Rightarrow \tan 2\varphi = 1 \Rightarrow 2\varphi = \frac{\pi}{4} + \pi n \Rightarrow \varphi = \frac{\pi}{8} + \frac{\pi n}{2}, \quad n \in \mathbb{Z}$$

$$\text{Решая } [0, \pi) \Rightarrow \varphi = \frac{\pi}{8}, \frac{5\pi}{8}, \frac{9\pi}{8}, \frac{13\pi}{8}.$$

$$2) \quad \text{var}(Z) = \text{var}(aX + bY) = 4a^2 + 2b^2 + 2ab.$$

- универсальн.

$$\text{var}(V) = \text{var}(-bX + aY) = 4b^2 + 2a^2 - 2ab.$$

$$\text{Если } \cos 2\varphi = \sin 2\varphi = \frac{1}{\sqrt{2}}, \quad \text{то } \varphi = \frac{\pi}{8}, \frac{5\pi}{8} \Rightarrow \text{var}(Z) = 3 + \sqrt{2}; \quad \text{var}(V) = 3 - \sqrt{2}.$$

$$\text{Если } \cos 2\varphi = \sin 2\varphi = -\frac{1}{\sqrt{2}} \quad \text{то } \varphi = \frac{5\pi}{8}, \frac{13\pi}{8} \Rightarrow \text{var}(Z) = 3 - \sqrt{2};$$

$$\text{var}(V) = 3 + \sqrt{2}.$$

$$\vec{z} = (z_1, z_2), \quad p(\vec{z}) = \frac{1}{\sqrt{2\pi}\sigma^2} e^{-\frac{1}{2\sigma^2} \|\vec{z}\|^2} \quad \sigma^2 = 1.$$

$$\langle z_1^4 \rangle = 12, \quad \langle z_2^6 \rangle = 15, \quad \langle z_1^2 z_2^4 \rangle = 10.$$

$$\text{ges } \langle z^{2k} \rangle : E[z^{2k}] = (2k-1)!! \sigma^{2k}.$$

$$\langle z_1^4 \rangle = (2k-1)!! = 1 \cdot 3 = 3 \quad ; \quad 3 \sigma_{z_1}^{2 \cdot 4} = 12 \Rightarrow \sigma_{z_1}^4 = 4 \Rightarrow \sigma_{z_1}^2 = 2$$

$$\langle z_2^6 \rangle : (2k-1)!! = 5 \cdot 3 \cdot 1 = 15 \quad ; \quad 15 \sigma_{z_2}^6 = 15 \Rightarrow \sigma_{z_2}^2 = 1.$$

$$E[z_1^2 z_2^4] = 3 \cdot 2 \cdot 5 = 30 \quad ; \quad \sigma_{z_1}^2 \cdot \sigma_{z_2}^4 = 2 \cdot 4 = 8 \quad ; \quad \sigma_{z_1 z_2}^2 = 10.$$

$$10 = 3 \cdot 2 \cdot 5 + 12 \sigma_{z_1 z_2}^2 = 6 + 12 \sigma_{z_1 z_2}^2 \Rightarrow \sigma_{z_1 z_2} = \pm \frac{1}{\sqrt{3}}.$$

$$\hat{C}_1 = \begin{pmatrix} 2 & 1/\sqrt{3} \\ 1/\sqrt{3} & 1 \end{pmatrix} \quad \text{mit} \quad \hat{C}_2 = \begin{pmatrix} 2 & -1/\sqrt{3} \\ -1/\sqrt{3} & 1 \end{pmatrix}.$$

$$p(z) = A z, \quad 0 \leq z \leq 2. \quad z_1, z_2, z_3 \text{ - i.i.d.}$$

$$1 = \int_0^2 A z dz = A \cdot \frac{z^2}{2} \Big|_0^2 = A \cdot \frac{4}{2} = 2A = 1 \Rightarrow A = \frac{1}{2} \Rightarrow p(z) = \frac{z}{2}.$$

↑ Normalisierung. ⊕

$$F = P(z) = \int_0^z \frac{t}{2} dt = \frac{t^2}{4} \Big|_0^z = \frac{z^2}{4}, \quad 0 \leq z \leq 2 \quad - \text{problem recognized. ges. } \text{again } z.$$

$$M = \max(z_1, \dots, z_3)$$

$$F_M(m) = P(M \leq m) = P(z_1 \leq m, \dots, z_3 \leq m) = F^3(m) = \left(\frac{m^2}{4}\right)^3 = \frac{m^6}{64}$$

$$p_M(m) = F_M'(m) = \frac{6m^5}{64} = \frac{3}{32} m^5, \quad 0 \leq m \leq 2.$$

$$E[M] = \int_0^2 m p_M(m) dm = \int_0^2 m \cdot \frac{3}{32} m^5 dm = \frac{3}{32} \int_0^2 m^6 dm = \frac{3}{32} \cdot \frac{1}{7} m^7 \Big|_0^2 = \frac{3}{32} \cdot \frac{128}{7} = \frac{12}{7}$$

$$E[M^3] = \frac{3}{32} \left(\frac{m^7}{7}\right) \Big|_0^2 = \frac{3}{32} \cdot \frac{256}{7} = 3.$$

$$D[M] = E[M^2] - E^2[M] = 3 - \left(\frac{12}{7}\right)^2 = 3 - \frac{144}{49} = \frac{147-144}{49} = \frac{3}{49}.$$